
Preveri rešitve v zvezku! 

20 : 5 = 4 24 : 6 = 4 81 : 9 = 9 

49 : 7 = 7 36 : 9 = 4 54 : 6 = 9 

40 : 8 = 5 63 : 7 = 9 18 : 3 = 6 

   

37 : 9 = 4, ost. 1 65 : 7 = 9, ost. 2 14 : 5 = 2, ost. 4 

48 : 5 = 9, ost. 3 3 : 4 = 0, ost. 3 8 : 0 = ni rešljivo 

12 : 8 = 1, ost. 4 97 : 9 = 10, ost.7 7 : 1 = 7, ost. 0 
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80 : 40 = 2, ost. 0 90 : 60 =1, ost. 30 80 : 70 = 1, ost. 10 

 

52 : 20 = 2, ost.12 

 

96 : 30 = 3, ost. 6 

 

88 : 60 = 1, ost. 28 

 

86 : 40 =2, ost. 6 77 : 20 =3, ost. 17 

 

17 : 30 = 0, ost. 17 
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